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2H,0 + 2e”

H, T +20H"

:NO, —e” + H,O=—=NO,; +
2H*\NO -e~ + H,0==HNO, + H" \NO -3¢~ +
2H,0 =—=NO; +4H".

NO, NO, —e™ +
H,0==NO; +2H". @ N
2.24 L NO,
0.1 mol 0.1 mol
H*
0.1 mol.
(2) D o= 100(3”9(1)%
1000 x 1.4 g » mL™' x63% =
63 g+ mol ' =14 mol *+ L', oV, =
oV, 10 L x0.2 mol *
L™'/14 mol » 17" =0. 1429 L =142.9 mL; @

2H,0 +2e”
=—H, T +20H" :
NO, -e” +H,0 = NO,; +2H".NO -e  +H,0 =
HNO, + H* \NO -3¢~ +2H,0 = NO; +4H".
n(NO) +n(NO,) =3 mol = 0.2 mol * L™' x10 L

:0.1mol x 1 +
x3 +n(NO,) x1 =
28 1./22.4 L/mol x2 “n(NO) = 0.8 mol
n( NO,) =0.3 mol V( NO) : V( NO,) =
n( NO) : n( NO,) =0.8 mol: 0.3 mol =8:3,

+0.1mol =1.1 mol
n(NO) - 0.1 mol
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